p¥v ‘@ 1 0H) EABAE I T 5

e EpE 2y
756.2 x 1077 = 1003 =
7x 107 = 665.1+ 1002 =
105.9 =10 = 1205 x 104 =
8 x 10072 = 1003 =
4% 1002 = 1004 =
380.7 x 107 = 5318 x 1009 =
705.5 x 1072 = 388.8 x 1002 =
1073 = 1 x 1002 =
1070 = 1002 =
336.6 x 1007 = 100D =
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756.2 x 1079 = 0.7562 107 = 0.001

7 %107 = 0.007 665.1 + 1072 = 66510
105.9 + 107 = 105900 120.5 x 10 = 0.01205
8 x 1072 = 0.08 107 = 0.001

4 %1072 = 0.04 107 = 0.0001

380.7 x 107 = 0.3807 531.8 x 107 = 0.05318
705.5 x 1072 = 7.055 388.8 x 107% = 3.888
107 = 0.001 1x 107 =0.01

1077 =0.1 1072 = 0.01

336.6 x 107 = 0.3366 1077 = 0.1
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